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92.

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - B
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

93.

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - C
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

9 .

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - D
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
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95,

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
o feufa &r_(93) ey e feal 3w _(94) Foufar & qam saell gefelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - C
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

96 .

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

C. SIEREIE D. | o

Answer Key - A

Page 43 of 96




MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_1 Exam Date : 15-Jun-2017

Duration: 120 Exam Time : 10:00 am

Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

97 .

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - 0
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

98 .

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - D
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Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

99.

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

Answer Key - A
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100 .

101.

Hefeag # F Ffavg e T R v § ¥ oeg s Reag s T it &
e grafae faweal & afFafaa § | g & R & aa7sw & v 5@ aaw
¥ ufew | yweafae Reedl & wgRa ey giaw |

aifarefier eafda 3iR_(91) &1 =nfew fo 96_(92) & oRE &I Jefell Xl L& | 3del
oA feufa &r_(93) ey e feal 3w _(94) Fourfar & qam 3aell getelr ey
& AT TaX & e, Seunsd 3R wel & | F97 §A ool FI_(95) I T AT
erfeFaemeit,_(96) afdrefier, su=ieft 3R _(97) s=mar & ? o7 g o4 #6T o T ?
FF Fd & [T 3OeT F T Fo vE 71 HR_(98) weH S5 & genm S
EANT ddART_(99) & Us (100) e 2T Wor -uder Hr=w ?

A 0T B GE
C qEg D. | @Ear
Answer Key - B

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

If half of India is to become urban (P)/ over the next couple of decades, (Q)/that would mean
about 25 crore people migrating of villages to town. (R)/ No error (S)

AP B.Q
C.R D.S

Answer Key - C
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102. In the following question, each sentence has four parts marked P, Q, R and S. Choose the

103 .

104 .

105 .

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

Yesterday after (P)/ the rain stopped, (Q)/ | went home on taxi along with my assistant. (R) /
No error (S)

AP B.Q
C.R D.S
Answer Key - 0

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

Mr. Mandela together with his wife and children (P)/ were invited (Q)/ to join the Lake View
Club. (R) / No error (S)

A P B.Q
C.R D.S
Answer Key - B

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

We all live in this (P)/ big house which (Q)/ has built by my father about fifty years ago. (R)/
No error (S)

AP B.Q
C.R D.S
Answer Key - C

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error

(S)' as your answer.

The arrival of the monsoon along India’s shores (P)/ in May 30, with a meteorological forecast
for rainfall (Q)/ that would almost match the normal average of 89 cm, is the cause for cheer.
(R)/ No error(S)

AP B.Q
C.R D.S
Answer Key - B
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106 . In the following question, each sentence has four parts marked P, Q, R and S. Choose the

107 .

108 .

109.

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

Neither the woman nor the man (P)/ was present (Q)/ at that time of the accident. (R)/ No

error (S)

AP B.Q
C.R D.S
Answer Key - C

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

Individuals and entities needs to provide details of their country of birth,(P)/ country of
citizenship, country of residence for tax purposes, among others, (Q)/ to the respective

financial institutions. (R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - A

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

In a Parliamentary system of Government (P)/ the Executive is responsible (Q)/ to the

Legislature. (R)/ No error (S)

AP B.Q
C.R D.S
Answer Key - D

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

One of the power (P)/ of the President is (Q)/ to preside over meetings. (R)/ No error (S)

AP B.Q
C.R D.S
Answer Key - A
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110. In the following question, each sentence has four parts marked P, Q, R and S. Choose the

111.

112.

113.

114.

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

The Asian Development Bank (P)/has started working (Q)/ to create several regional hubs.
(R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - D

Fill in the blank with most appropriate word which will suit the context of the sentence.

Meena became _______ at typing because she practiced every day for six months.
A. Proficient B. Reflective

C. Dormant D. Redundant
Answer Key - A

Fill in the blank with most appropriate word which will suit the context of the sentence.

Choosing a small, fuel-efficient carisa _____ purchase for a recent college graduate.
A. Tremendous B. Tedious

C. Unhallowed D. Judicious

Answer Key - D

Fill in the blank with most appropriate word which will suit the context of the sentence.

Such a violation of school policy should be punished by nothing less than expulsion.
A. Copious B. Flagrant

C. Raucous D. Nominal

Answer Key - B

Fill in the blank with most appropriate word which will suit the context of the sentence.
When her schoolwork got to be too much, Anu had a tendency to , which always put
her further behind.

A. Dedicate B. Rejuvenate
C. Respond D. Procrastinate
Answer Key - D
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115. Fill in the blank with most appropriate word which will suit the context of the sentence.

116 .

117.

118.

119.

120 .

She reached the of her career with her fourth novel, which won the Pulitzer Prize.
A. Harbinger B. Apogee

C. Nadir D. Deadline

Answer Key - B

Choose the correct synonym of the given word from the options given below.
SCRAMBLE

A. Clutter B. Order
C. Peace D. Obnoxious
Answer Key - A

Choose the correct synonym of the given word from the options given below.
INQUISITIVE

A. Sensitive B. Careful
C. Curious D. Anxious
Answer Key - C

Choose the correct synonym of the given word from the options given below.
REPUGNANT

A. Offensive B. Shameless
C. Sheer D. Criminal
Answer Key - A

Choose the correct synonym of the given word from the options given below.
RESTIVE

A. Restful B. Restless
C. Obedient D. Excited
Answer Key - B

Choose the correct synonym of the given word from the options given below.
COPIOUS

A. Scanty B. Plentiful
C. Repetitive D. Arrogant
Answer Key - B
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121. Choose the correct antonym of the given word from the options given below.
AMALGAMATE
A. Combine B. Merge
C. Separate D. Circulate
Answer Key - C
122 . Choose the correct antonym of the given word from the options given below.
INTROVERT
A. Extrovert B. Loner
C. Extraordinary D. Brooder
Answer Key - A
123. Choose the correct antonym of the given word from the options given below.
SHY
A. Diffident B. Aggressive
C. Naive D. Wallflower
Answer Key - B
124 . Choose the correct antonym of the given word from the options given below.
CENSORIOUS
A. Critical B. Appreciative
C. Disparaging D. Desirable
Answer Key - B
125 . Choose the correct antonym of the given word from the options given below.
DEROGATORY
A. Charitable B. Defamatory
C. Complimentary D. Sarcastic
Answer Key - C
126 . Choose the option which best expresses the meaning of the idiom/phrase given below:
"Play one's cards well"
A. A good gambler displaying skills B. A magician doing magic with cards
C. Use means effectively D. Effective use of credit cards
Answer Key - C
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127 . Choose the option which best expresses the meaning of the idiom/phrase given below:

"To beat about the bush"

A. To punish an innocent person B. To avoid coming to the point
C. To boast about oneself D. To remove weeds
Answer Key - B

128 . Choose the option which best expresses the meaning of the idiom/phrase given below:

"Flog a dead horse"

A. Be afraid to die B. Making someone see reason
C. To hear rumours D. Wasting time in useless effort
Answer Key - D

129. Choose the option which best expresses the meaning of the idiom/phrase given below:

"The green-eyed monster"

A. A mythical creature of the sea B. A cat with green eyes
C. Personal jealousy D. To get into trouble
Answer Key - C

130. Choose the option which best expresses the meaning of the idiom/phrase given below:

"To end in smoke"

A. To die of cancer caused by smoking B. To end without providing any practical
result

C. Die in a burning house choked with smoke D. To risk everything in a single venture

Answer Key - B
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131. In the following question, there are six sentences marked S1,S6,P,Q,R and S.The position of

132.

S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. Widowhood in India used to be very miserable.

P. There were widows even in ages ranging from five to ten.

Q. A widow was a widow always.

R. However, several communities began to rebel against the ill treatment of widows.
S. She could not marry again, however, tender in age she might be.

S6. Today nobody looks upon remarriage of widows with disgust or disapproval.

A. QSPR B. SRPQ
C. PRSQ D. RSQP
Answer Key - A

In the following question, there are six sentences marked S1,S6,P,Q,R and S.The position of
S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. | was waiting for my bus on one of the routes.

P. | said that he could.

Q. He asked me if he could go to the Red Fort from that stop.

R. Then he thanked me profusely and said that he was on a visit to the city.
S. There came along an elderly gentleman with his family.

S6. He also said that he had already visited most of the other places in the city.

A. QPSR B. RQSP
C. SQPR D. PRSQ
Answer Key - C
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133. In the following question, there are six parts marked S1, S6, P, Q, R, S. The position of S1

134 .

and S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these parts

and choose the proper sequence from the given options.

S1. Mom was pleased to receive your wishes on her birthday.
P. Girl! wishes are more powerful than anything in the world.
Q. Both of us had forgotten the day.

R. Your letter holds a proof of it.

S. It was your letter and the card which reminded us of it.

S6. Your mom has forgotten all the bitterness and sends her blessings to you.

A. PSQR B. QRSP
C. RQSP D. QSPR
Answer Key - D

In the following question, there are six sentences marked S1, S6, P, Q, R and S.The position
of S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. Primitive man was helpless and weak.

P. He conceived of some divinity behind this.

Q. As ages passed, he began to think and to investigate nature's mysteries.
R. He bowed down before natural phenomena.

S. The flash of lightning, the clap of thunder struck him with awe.

S6. Today the knowledge gained from science has armed him with superhuman strength.

A. RSQP B. PSQR
C.RPSQ D. QSPR
Answer Key - C
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135.

136 .

137.

138 .

In the following question, there are six sentences marked S1, S6, P, Q, R and S. The position

of S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. The old man wanted to cross the road.
P. The driver got off and came to him.
Q. He was fed up and was about to return.
R. Then a car stopped in front of him.

S. He waited for a long time.

S6. Holding him by hand the driver helped him to cross the road.

A. SPRQ

C. QRSP

Answer Key - B

Rewrite the sentence in Passive voice.

Ramya missed the Janata Express.

A. The Janata Express is missed by Ramya

C. The Janata Express was missed by

Ramya

Answer Key - C

Rewrite the sentence in Passive voice.

The Police took the injured passengers to the hospital.

A. The injured passengers have been taken

to the hospital by the Police

C. The injured passengers were taken to the

hospital by the Police
Answer Key - C

Rewrite the sentence in Passive voice.

The labourers were building the bridge.
A. The bridge is being built by the labourers

C. The bridge was being built by the labourers

Answer Key - C

B. SQRP

D. PSRQ

B. The Janata Express has been missed by
Ramya

D. The Janata Express have been missed by

Ramya

B. The injured passengers has been taken to

the hospital by the Police

D. The injured passengers had been taken to

the hospital by the Police

B. The bridge was being build by the labourers

D. The bridge has been built by the labourers
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139.

140 .

141.

142 .

143 .

Rewrite the sentence in Passive voice.

| had never seen such a lovely sight before.

A. Such a lovely sight has never been seen

by me before

C. Such a lovely sight is never been seen by

me before

Answer Key - D

Rewrite the sentence in Passive voice.

My uncle will teach me.

A. | was taught by my uncle

C. I will be teached by my uncle

Answer Key - D

Rewrite the sentence in Active voice.

The glass was broken by Rohan.

A. Rohan break the glass

C. Rohan breaks the glass

Answer Key - B

Rewrite the sentence in Active voice.

The rice that you cooked was eaten by me.
A. | ate the rice that you cooked

C. | had eaten the rice that you cooked

Answer Key - A

Rewrite the sentence in Active voice.

The car was being driven by my sister.
A. My sister is driving the car

C. My sister drives the car

Answer Key - B

B

. Such a lovely sight have never been seen

by me before

D

. Such a lovely sight had never been seen by

me before

[s9)

O

[s9)

O

o8]

O

[s9)

O

. I am taught by my uncle

. 1 will be taught by my uncle

. Rohan broke the glass

. Rohan has broke the glass

. I have eaten the rice that you cooked

. | eat the rice that you cooked

. My sister was driving the car

. My sister drove the car
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144 .

145 .

146 .

147 .

148 .

149 .

Rewrite the sentence in Active voice.

The speaker was listened to with patience by us.

A. We had listened to the speaker with

patience

C. We listen to the speaker with patience

Answer Key - D

Rewrite the sentence in Active voice.

The sweet dish has been prepared by the cook.
A. The cook will prepare the sweet dish

C. The cook has prepared the sweet dish

Answer Key - C

B. We have listened to the speaker with

patience

D. We listened to the speaker with patience

B. The cook prepared the sweet dish

D. The cook prepares the sweet dish

Choose the correct alternative which will improve the quoted part of the given sentence.

The performance of our players was rather 'worst than | had expected'.

A. Bad as | had expected

C. Bad than expectation

Answer Key - B

B. Worse than | had expected

D. No improvement

Choose the correct alternative which will improve the quoted part of the given sentence.

The crops are dying; it ‘must not had’ rained.
A. Must had not

C. Must not have

Answer Key - C

B. Must not be

D. No improvement

Choose the correct alternative which will improve the quoted part of the given sentence.

They ‘were all shocked at’ his failure in the competition.

A. Were shocked at all

C. Had all shocked by

Answer Key - D

B. Had all shocked at

D. No improvement

Choose the correct alternative which will improve the quoted part of the given sentence.

She always behaves ‘as if she has not’ care at all about my feelings.

A. As though she will not

C. As far as she doesn’t

Answer Key - B

B. As if she doesn’t

D. No improvement
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151.

152 .

153.

154 .

155 .

Choose the correct alternative which will improve the quoted part of the given sentence.

| hope it will not rain when ‘they have started their journey.’

A. They will have started their journey B. They will start their journey
C. They start their journey D. No improvement
Answer Key - C

Choose the correct alternative which will improve the quoted part of the given sentence.

After a six-hour marathon session, the two political parties are ‘united together.’

A. Joined B. Together
C. United D. No improvement
Answer Key - C

Choose the correct alternative which will improve the quoted part of the given sentence.

‘Nearly everyone’ suffers when unemployment rises.

A. Everyone nearly B. Nearly all
C. Nearly each one D. No improvement
Answer Key - D

Choose the correct alternative which will improve the quoted part of the given sentence.

If you ‘wrote’ to me earlier, | would have easily solved your problem.

A. Were written B. Had written
C. Have written D. No improvement
Answer Key - B

Choose the correct alternative which will improve the quoted part of the given sentence.

Can’t you ‘never understand’ what has been said?

A. Ever understand B. Rather understand
C. At all understand D. No improvement
Answer Key - A

Choose the correct alternative which will improve the quoted part of the given sentence.

He asked me where ‘was my book.’

A. My book was B. My book has been
C. Is my book D. No improvement
Answer Key - A
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157 .

158 .

159.

160 .

Rewrite the sentence in Indirect speech.

He said, ‘l am leaving for Delhi.’
A. He said that he was leaving for Delhi

C. He said that he is leaving for Delhi

Answer Key - A

Rewrite the sentence in Indirect speech.

He said to me, ‘You have done your duty.’
A. He told me that | had done your duty

C. He told me that you had done my duty

Answer Key - B

Rewrite the sentence in Indirect speech.

You said to me, ‘He will help the poor.’

A. You told me that | would help the poor

C. You told me that he would helped the poor

Answer Key - B

Rewrite the sentence in Indirect speech.

| said, ‘He will write a letter.’

A. | said that | would write a letter

C. | said that he would write a letter

Answer Key - C

Rewrite the sentence in Indirect speech.

The teacher said, ‘This boy is working hard.’

A. The teacher said that that boy was working
hard

C. The teacher said that that boy has been

working hard

Answer Key - A

B. He said that | was leaving for Delhi

D. He said that he has been leaving for Delhi

B. He told me that | had done my duty

D. He told me that | have done your duty

B. You told me that he would help the poor

D. You told me that he would have helped the

poor

B. | said that he would wrote a letter

D. | said that | would have written a letter

B. The teacher said that that he is working
hard

D. The teacher said that that boy was being

worked hard
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163 .

164 .

165 .

Rewrite the sentence in Direct speech.

The teacher told Ram that he was wasting his time.
A. The teacher said, ‘Ram, you waste your

time’

C. The teacher said, ‘Ram, you had wasted

your time’

Answer Key - D

Rewrite the sentence in Direct speech.

The boy told his father that his examinations were over.

A. The boy said to his father, ‘His

examinations are over’

C. The boy said to his father, ‘My

examinations are over’

Answer Key - C

Rewrite the sentence in Direct speech.

The manager enquired Rama why was he late that day.

A. The manager asked, ‘Rama, why are you

late today?'

C. The manager said, ‘Rama, why was you

late today?'

Answer Key - A

Rewrite the sentence in Direct speech.

The accused begged the magistrate to pardon him that time.

A. The accused said to the magistrate,

‘Pardoned me this time, sir’

C. The accused said to the magistrate,

‘Pardons me this time, sir’
Answer Key - B

Rewrite the sentence in Direct speech.

She said that she was coming just then.

A. She said, ‘1 am coming just now’

C. She said, ‘ am coming just then’

Answer Key - A

B. The teacher said, ‘Ram, you have wasted

your time’

D. The teacher said, ‘Ram, you are wasting

your time’

B. The boy said to his father, ‘My

examinations were over’

D. The boy said to his father, ‘My examination

was over’

B. The manager said, ‘Rama, why are you late
that day?'

D. The manager said, ‘Rama, why have you

late today?'

B. The accused said to the magistrate, ‘Please

pardon me this time, sir’

D. The accused said to the magistrate, ‘Please

pardon me that time, sir’

B. She said, ‘She was coming just now’

D. She said, ‘| have come just now’
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166 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | Reasonably B. | Surely
C. | Apparently D. | Perfectly
Answer Key - C
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167 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | Great B. | New
C. | Old D. | Ordinary
Answer Key - A
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168 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A | At B. | For
C. | By D. | To
Answer Key - D
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169 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | When B. | While
C. | Then D. | As
Answer Key - D
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170.

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | The B. A
C. | An D. | At
Answer Key - A
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In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | Unearthed B. | Unmatched
C. | Surprised D. | Unparalleled
Answer Key - A
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In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilizsations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | Been B. | Become
C. | Being D. | Seen
Answer Key - A
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In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A A B. | Several
C. | The D. | Many
Answer Key - C
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In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A. | Head B. | Below
C. | Body D. | Heart
Answer Key - D
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In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

Some scholars, while exploring the forests for America, discovered some
buildings that were in ruins. These buildings were (166) ruined by encroaching
forest. There were remnants of a (167) civilisation. The scholars got interested.
They excavated more and discovered (168) their utmost surprise the remains of
a flourishing civilisation, the Mayans_(169) they named it. Thus, it was in as
late as (170) 19th century that the secrets of a new civilisation were (171). The
scholars believed that the Mayans must have (172) the descendants of ancient
Egvptians. The fact remains that even today the Mayan culture is one of (173)
most fascinating ancient civilisations. This civilization was situated in the (174)
of Middle America. It covered an area equivalent to that of France (175) spread
across some parts of Mexico. The buildings do tell us about the technologieal
advances they had attained.

A | Yet B. | But
C. | So D. | And
Answer Key - D
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In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world's original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Faced

Stood

C. | Struggled

Challenged

Answer Key - 0
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In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Decides

Thinks

C. | Advises

Observes

Answer Key - A
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In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world's original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Taken

Wiped

C. | Put

Thrown

Answer Key - B
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In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Differences B. | Increments
C. | Changes D. | Replacements
Answer Key - C
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numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

C. | Over D. | For

Answer Key - A

Page 76 of 96




MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_1

Duration: 120

Exam Date : 15-Jun-2017

Exam Time : 10:00 am

181 . In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Aborigines B. | Ancients
C. | Successors D. | Ancestors
Answer Key - D

Page 77 of 96




MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_1 Exam Date : 15-Jun-2017
Duration: 120 Exam Time : 10:00 am
182 . In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Ourselves B. | We

C. | Us D. | Some

Answer Key - B
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183 . In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Demolish B. | Cherich
C. | Save D. | Renovate
Answer Key - C
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184 . In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (180) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world's original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Occurs

Sounds

C. | Seems

Gets

Answer Key - D
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185.

In the following passage there are blanks, each of which has been

numbered. Choose the correct word from the given options which fits
the blank appropriately.

For generations man has (176) against the wilds to create a world where only
he (177) whether animals and plants survive or are (178) out. Earlier we
accepted as self-evident that any (179) in our environment brought about by
science and technology must be improvements (1580) the world of our (181).
However, many people all over the world have begun to feel that (1582) are
going too far and that we should try to (183) some of the world’s original life
before we find it (184) too late. It is our responsibility to_(185) the nature.

A. | Save

Destroy

C. | Maintain

Develop

Answer Key - A
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186 .

Read the following passage carefully and answer the questions
given below.

Foot racing 1z a popular activity in the United States. It 13 seen not only
as a competitive sport but also as a way to exercise. to enjoy the
camaraderie of hike-minded people, and to donate money to a good cause.
Though serious runners may spend months in training to compete, other
runners and walkers might not train at all. Those not competing to win
might run 1n an effort to beat their own time or simply to enjoy the fun
and exercise. People of all ages, from those of less than one year (who
may be pushed in strollers) to those in their eighties, enter into this
sport. The races are held on city streets, on college campuses. through
parks, and in suburban areas, and they are commonly 5 to 10 kilometres
1in length.

The largest footrace in the world 1s the 12-kilometer Bay to Breakers race
that 1z held in San Francisco every spring. This race begins on the East
side of the city near San Francisco Bay and ends on the West side at the
Pacific Ocean. There may be 80,000 or more people running 1n this race
through the streets and hills of San Francisco. In the front are the
serious runners who compete to win and who might finish 1n as little as
34 minutes. Behind them are the thousands who take several hours to
finish. In the back of the race are those who dress in costumes and come
just for fun. One vear, there was a group of men who dressed hike Elvis
Presley: and another group consisted of firefighters who were tied
together in a long line and who were carrving a firehose. There was even
a bridal party. in which the bride was dressed 1n a long white gown and
the groom wore a tuxedo. The bride and groom threw flowers to
bystanders, and they were actually married at some point along the
route.

What is the main purpose of the passage?

Make fun of runnersin (Give reasons for the
A B. :
costume popularity of footraces
C Describe a popular D Encourage peopleto
| activity " | exercise

Answer Key - C
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187.

Read the following passage carefully and answer the questions
given below.

Foot racing 1z a popular activity in the United States. It 13 seen not only
as a competitive sport but also as a way to exercise., to enjoy the
camaraderie of like-minded people, and to donate money to a good cause.
Though serious runners may spend months In training to compete, other
runners and walkers might not train at all. Those not competing to win
might run 1n an effort to beat their own time or simply to enjoy the fun
and exercise. People of all ages, from those of less than one year (who
may be pushed in strollers) to those in their eighties, enter into this
sport. The races are held on city streets, on college campuses. through
parks, and in suburban areas, and they are commonly 5 to 10 kilometres
1in length.

The largest footrace in the world 1s the 12-kilometer Bay to Breakers race
that 1z held in San Francisco every spring. This race begins on the East
side of the city near San Francisco Bay and ends on the West side at the
Pacific Ocean. There may be 80,000 or more people running 1n this race
through the streets and hills of San Francisco. In the front are the
serious runners who compete to win and who might finish 1n as little as
34 minutes. Behind them are the thousands who take several hours to
finish. In the back of the race are those who dress in costumes and come
just for fun. One year, there was a group of men who dressed like Elvis
Presley: and another group consisted of firefighters who were tied
together in a long line and who were carrving a firehose. There was even
a bridal party. in which the bride was dressed 1n a long white gown and
the groom wore a tuxedo. The bride and groom threw flowers to
bystanders, and they were actually married at some point along the
route.

The word "camaraderie" as used in first paragraph could be best
replaced by which of the following?

A. | Games B. | Jokes

C. | Companionship D. | Views

Answer Key - C
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188 .

Read the following passage carefully and answer the questions
given below.

Foot racing 1z a popular activity in the United States. It 13 seen not only
as a competitive sport but also as a way to exercise, to enjoy the
camaraderie of hike-minded people, and to donate money to a good cause.
Though serious runners may spend months In training to compete, other
runners and walkers might not train at all. Those not competing to win
might run 1n an effort to beat their own time or simply to enjoy the fun
and exercise. People of all ages, from those of less than one year (who
may be pushed in strollers) to those in their eighties. enter into this
sport. The races are held on city streets, on college campuses, through
parks, and in suburban areas, and they are commonly 5 to 10 kilometres
1in length.

The largest footrace in the world 1s the 12-kilometer Bay to Breakers race
that 1z held in San Francisco every spring. This race begins on the East
side of the city near San Francisco Bay and ends on the West side at the
Pacific Ocean. There may be 80,000 or more people running 1n this race
through the streets and hills of San Francisco. In the front are the
serious runners who compete to win and who might finish 1n as little as
34 minutes. Behind them are the thousands who take several hours to
finish. In the back of the race are those who dress in costumes and come
just for fun. One vear, there was a group of men who dressed like Elvis
Presley: and another group consisted of firefishters who were tied
together in a long line and who were carrving a firehose. There was even
a bridal party, in which the bride was dressed i1n a long white gown and
the groom wore a tuxedo. The bride and groom threw flowers to
bystanders, and they were actually married at some point along the
route.

Which of the following is NOT implied by the author?

Footraces do not appeal
to a variety of people

A

B. | Runningis a good exercise

C Walkers can compete for D Age and professionis no
| prizes " | bar to enter foot races

Answer Key - A
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189.

Read the following passage carefully and answer the questions
given below.

Foot racing 1s a popular activity in the United States. It 13 seen not only
as a competitive sport but also as a way to exercise, to enjoy the
camaraderie of like-minded people, and to donate money to a good
cause. Though serious runners may spend months 1n training to
compete, other runners and walkers might not train at all. Those not
competing to win might run in an effort to beat their own time or
simply to enjoy the fun and exercizse. People of all ages, from those of
less than one year (who may be pushed in strollers) to those in their
eighties, enter into this sport. The races are held on city streets, on
college campuses, through parks. and in suburban areas, and they are
commonly 5 to 10 kilometres 1n length.

The largest footrace in the world 13 the 12-kilometer Bay to Breakers
race that 1z held in San Francisco every spring. This race begins on the
East side of the city near San Francisco Bay and ends on the West side
at the Pacific Ocean. There may be 80,000 or more people running 1n
this race through the streets and hills of San Francisco. In the front are
the serious runners who compete to win and who might fimish in as
little as 34 minutes. Behind them are the thousands who take several
hours to fimish. In the back of the race are those who dress in costumes
and come just for fun. One yvear, there was a group of men who dressed
like Elvis Presley: and another group consisted of firefighters who were
tied together 1n a long line and who were carryving a firehose. There was
even a bridal party. in which the bride was dressed 1n a long white
gown and the groom wore a tuxedo. The bride and groom threw flowers
to bystanders, and they were actually married at some point along the
route.

As used in the passage, the word "strollers" refers to:

A. | Prams B. | Wheelchairs

C. | Wagons D. | Cribs

Answer Key - A
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190 .

Read the following passage carefully and answer the questions
given below.

Foot racing 1s a popular activity in the United States. It 13 seen not only
as a competitive sport but also as a way to exercise, to enjoy the
camaraderie of like-minded people, and to donate money to a good
cause. Though serious runners may spend months 1n training to
compete, other runners and walkers might not train at all. Those not
competing to win might run in an effort to beat their own time or
simply to enjoy the fun and exercizse. People of all ages, from those of
less than one year (who may be pushed in strollers) to those in their
eighties, enter into this sport. The races are held on city streets, on
college campuses, through parks. and in suburban areas, and they are
commonly 5 to 10 kilometres 1n length.

The largest footrace in the world 13 the 12-kilometer Bay to Breakers
race that 1z held in San Francisco every spring. This race begins on the
East side of the city near San Francisco Bay and ends on the West side
at the Pacific Ocean. There may be 80,000 or more people running in
this race through the streets and hills of San Francisco. In the front are
the serious runners who compete to win and who might fimish in as
little as 34 minutes. Behind them are the thousands who take several
hours to fimish. In the back of the race are those who dress in costumes
and come just for fun. One vear, there was a group of men who dressed
like Elvis Presley: and another group consisted of firefighters who were
tied together 1n a long line and who were carrving a firehose. There was
even a bridal party. in which the bride was dressed 1n a long white
gown and the groom wore a tuxedo. The bride and groom threw flowers
to bystanders, and they were actually married at some point along the
route.

Which of the following is NOT the reason why people enter foot
races?

A. | Toexercise B. | Toenjoy

C. | As a compulsion D. | For charity

Answer Key - C
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191.

Read the following passage carefully and answer the
guestions given below.

When Aurobindo was in England, Maharaja Sayaji Rao Gaekwad
of Baroda, a fervent nationalist himself went to him and offered
him a job in the Baroda State. Aurobindo sailed for India in
February 1893 to join the Baroda State Services.

In Bengal, Aurobindo played a pivotal role in building the militant
nationalist movement. In 1899, Jatindranath Banerjee (who later
came to be known as Niralamba Swami) met him in Baroda with
an introduction from Sarala Devi Chaudhurani to take military
training. As Bengalis were not encouraged to join military service,
Jatin Banerjee was recruited in the Baroda State army under the
adopted name, Upadhyaya, with the help of Aurcbindo. Jatin
returned to Calcutta in 1902 to establish a revolutionary centre,
called East Club at 108 Upper Circular Road. Sister Nivedita
helped him to build up a library for revolutionaries by donating
about 200 books and herself joined the club as an executive
member. Aurobindo visited the club, accompanied by his brother
Barin to develop it and build up the revolutionary movement in
Bengal. In 1903, Aurobindo forged a merger of his Baroda group,
led by Jatin Banerjee, with the Anushilan Samiti and became the
Vice President along with C.R. Das. In 1903, Aurobindo wisited
Bengal again and stayed with Jogendranath Vidyabhusan. The
latter had written on the lives of Mazzini and Garibaldiin Bengali.

Why did Jatin Banerjee meet Aurobindo?

To bring him back to - ..
A Bengal B. | To take military training
C To pay his respects for D To exchange social
"~ | him " | pleasantries

Answer Key - B
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192.

Read the following passage carefully and answer the
questions given below.

When Aurobindo was in England, Maharaja Sayaji Rao Gaekwad
of Baroda, a fervent nationalist himself went to him and offered
him a job in the Baroda State. Aurobindo sailed for India in
February 1893 to join the Baroda State Services.

In Bengal, Aurobindo played a pivotal role in building the militant
nationalist movement. In 1899, Jatindranath Banerjee (who later
came to be known as Niralamba Swami) met him in Baroda with
an introduction from Sarala Devi Chaudhurani to take military
training. As Bengalis were not encouraged to join military service,
Jatin Banerjee was recruited in the Baroda State army under the
adopted name, Upadhyaya, with the help of Aurobindo. Jatin
returned to Calcutta in 1902 to establish a revolutionary centre,
called East Club at 108 Upper Circular Road. Sister Nivedita
helped him to build up a library for revolutionaries by donating
about 200 books and herself joined the club as an executive
member. Aurobindo visited the club, accompanied by his brother
Barin to develop it and build up the revolutionary movement in
Bengal. In 1903, Aurobindo forged a merger of his Baroda group,
led by Jatin Banerjee, with the Anushilan Samiti and became the
Vice President along with C.R. Das. In 1903, Aurobindo wvisited
Bengal again and stayed with Jogendranath Vidyabhusan. The
latter had written on the lives of Mazzini and Garibaldiin Bengali.

What is the main objective of the East Club?

To offer free education to ) )
A the people B. | To study in the library

Tobuildup a
revolutionary movement
in Bengal

To train up young menin
C. D.
sports and games

Answer Key - D
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193.

Read the following passage carefully and answer the
guestions given below.

When Aurobindo was in England, Maharaja Sayaji Rao Gaekwad
of Baroda, a fervent nationalist himself went to him and offered
him a job in the Baroda State. Aurobindo sailed for India in
February 1893 to join the Baroda State Services.

In Bengal, Aurobindo played a pivotal role in building the militant
nationalist movement. In 1899, Jatindranath Banerjee (who later
came to be known as Niralamba Swami) met him in Baroda with
an introduction from Sarala Devi Chaudhurani to take military
training. As Bengalis were not encouraged to join military service,
Jatin Banerjee was recruited in the Baroda State army under the
adopted name, Upadhyaya, with the help of Aurcbindo. Jatin
returned to Calcutta in 1902 to establish a revolutionary centre,
called East Club at 108 Upper Circular Road. Sister Nivedita
helped him to build up a library for revolutionaries by donating
about 200 books and herself joined the club as an executive
member. Aurobindo visited the club, accompanied by his brother
Barin to develop it and build up the revolutionary movement in
Bengal. In 1903, Aurobindo forged a merger of his Baroda group,
led by Jatin Banerjee, with the Anushilan Samiti and became the
Vice President along with C.R. Das. In 1903, Aurobindo wisited
Bengal again and stayed with Jogendranath Vidyabhusan. The
latter had written on the lives of Mazzini and Garibaldiin Bengali.

Who was the leader of Baroda group before its merger with
the Anushilan Samiti?

A. | Sr1 Aurobindo B. | Barin Ghosh

C. | Jatin Banerjee D. | Vidhyabhusan

Answer Key - C
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194 .

Read the following passage carefully and answer the
questions given below.

When Aurobindo was in England, Maharaja Sayaji Rao Gaekwad
of Baroda, a fervent nationalist himself went to him and offered
him a job in the Baroda State. Aurobindo sailed for India in
February 1893 to join the Baroda State Services.

In Bengal, Aurobindo played a pivotal role in building the militant
nationalist movement. In 1899, Jatindranath Banerjee (who later
came to be known as Niralamba Swami) met him in Baroda with
an introduction from Sarala Devi Chaudhurani to take military
training. As Bengalis were not encouraged to join military service,
Jatin Banerjee was recruited in the Baroda State army under the
adopted name, Upadhyaya, with the help of Aurcbindo. Jatin
returned to Calcutta in 1902 to establish a revolutionary centre,
called East Club at 108 Upper Circular Road. Sister Nivedita
helped him to build up a library for revolutionaries by donating
about 200 books and herself joined the club as an executive
member. Aurobindo visited the club, accompanied by his brother
Barin to develop it and build up the revolutionary movement in
Bengal. In 1903, Aurobindo forged a merger of his Baroda group,
led by Jatin Banerjee, with the Anushilan Samiti and became the
Vice President along with C.R. Das. In 1903, Aurobindo wisited
Bengal again and stayed with Jogendranath Vidyabhusan. The
latter had written on the lives of Mazzini and Garibaldiin Bengali.

The lives of Mazzini and Garibaldi were written in Bengali
by-

A. | Jogendranath B. | Sri Aurobindo

C. | Sister Nivedita D. | None of these

Answer Key - A
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195.

Read the following passage carefully and answer the
guestions given below.

When Aurobindo was in England, Maharaja Sayaji Rao Gaekwad
of Baroda, a fervent nationalist himself went to him and offered
him a job in the Baroda State. Aurobindo sailed for India in
February 1893 to join the Baroda State Services.

In Bengal, Aurobindo played a pivotal role in building the militant
nationalist movement. In 1899, Jatindranath Banerjee (who later
came to be known as Niralamba Swami) met him in Baroda with
an introduction from Sarala Devi Chaudhurani to take military
training. As Bengalis were not encouraged to join military service,
Jatin Banerjee was recruited in the Baroda State army under the
adopted name, Upadhyaya, with the help of Aurcbindo. Jatin
returned to Calcutta in 1902 to establish a revolutionary centre,
called East Club at 108 Upper Circular Road. Sister Nivedita
helped him to build up a library for revolutionaries by donating
about 200 books and herself joined the club as an executive
member. Aurobindo visited the club, accompanied by his brother
Barin to develop it and build up the revolutionary movement in
Bengal. In 1903, Aurobindo forged a merger of his Baroda group,
led by Jatin Banerjee, with the Anushilan Samiti and became the
Vice President along with C.R. Das. In 1903, Aurobindo wisited
Bengal again and stayed with Jogendranath Vidyabhusan. The
latter had written on the lives of Mazzini and Garibaldiin Bengali.

Sister Nivedita donated 200 books to the library to help-

A. | Upadhyaya B. | 5Sri Aurobindo

C. | Jatin Banerjee D. | C.R.Das

Answer Key - C
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In current EKnowledge economy (K-economy), organizations reguired to emphasize on
Intellectual Capital (IC). IC has three basic components: human capital, customer
capital, and organizational capital Many authors have used the organizational capital as
either infrastructure capital or structural capital The common practice of creation,
measurement, and management of the ntellectual capital has originated in the
European countries. Scandia i= the first company, which had shown intellectual capital in
itz balance sheet. However, a universally accepted formula for measurement of IC has
ztill not been created. Countriez like India, China and Japan known for knowledge
assets, are still struggling to implement the knowledge management practices. There 1s a
need to identify the process for creation of IC in K-economy. The human capital of a
nation depends on the practices and culture followed by the citizens of that nation. For
creation of human capital, the roles of ethics and value systems cannot be ignored.
Moreover, perzeverance, hard work, knowledge sharing culture, and knowledge currency
distribution are required. The GATT and WTO through Intellectual Property Rights Act
also support the IC creation practices.

Customer capital creation is facing a global challenge. Managing relationship with
customers 1s the kev issue now-a-dayvs. These practices believe in customer delight rather
than customer satisfaction. The Business Process Outsourcing and human re-engineering
era will give quality products and services to the customers, if redesigning of customer
equity 1= taken care of by the organizations. The cash-cow companiez purzue the
organizational goal of earning =atisfactory return that lie in the range of 10 percent to 45
percent through guality circles, workers participation in management, job rotation, ete.
Sustained retention of old customers and attraction of new ones present an immense
challenge to the organization in the EK-economy. The infrastructure capital creation
depends totally on the organization, the organizational culture and organizational
climate. Most of the Fortune 500 companies are able to sustain the organizational culture
but face problems In remaining organizational climate. The major reason for this i= the
employvee’s attraction to materialistic extrinsic factors, degradation of =social wvalues,
interperzonal conflicts and lack of team building behaviour. The organizational climate
depends mostly on the person who leads the organization. The practices flow from top to
bottom. Therefore, a transformational leadership iz needed by many organizations for
creating a climate that will lead to the knowledge economy.

The components of the Intellectual Capital that the author refers to are:

H 4 cust 4ol Human ecapital, customer
A Uir{lan Aand customer capita B. | capital and infrastructure
ony capital
Customer capital and .
C. . P . D None of these
infrastructure capital

Answer Key - B
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197 . Read the following passage carefully and answer the questions given below.

In current EKnowledge economy (K-economy), organizations reguired to emphasize on
Intellectual Capital (IC). IC has three basic components: human capital, customer
capital, and organizational capital Many authors have used the organizational capital as
either infrastructure capital or structural capital The common practice of creation,
measurement, and management of the ntellectual capital has originated in the
European countries. Scandia i= the first company, which had shown intellectual capital in
itz balance sheet. However, a universally accepted formula for measurement of IC has
ztill not been created. Countriez like India, China and Japan known for knowledge
assets, are still struggling to implement the knowledge management practices. There 1s a
need to identify the process for creation of IC in K-economy. The human capital of a
nation depends on the practices and culture followed by the citizens of that nation. For
creation of human capital, the roles of ethics and value systems cannot be ignored.
Moreover, perzeverance, hard work, knowledge sharing culture, and knowledge currency
distribution are required. The GATT and WTO through Intellectual Property Rights Act
also support the IC creation practices.

Customer capital creation is facing a global challenge. Managing relationship with
customers 1s the kev issue now-a-dayvs. These practices believe in customer delight rather
than customer satisfaction. The Business Process Outsourcing and human re-engineering
era will give quality products and services to the customers, if redesigning of customer
equity 1= taken care of by the organizations. The cash-cow companiez purzue the
organizational goal of earning =atisfactory return that lie in the range of 10 percent to 45
percent through guality circles, workers participation in management, job rotation, ete.
Sustained retention of old customers and attraction of new ones present an immense
challenge to the organization in the EK-economy. The infrastructure capital creation
depends totally on the organization, the organizational culture and organizational
climate. Most of the Fortune 500 companies are able to sustain the organizational culture
but face problems In remaining organizational climate. The major reason for this i= the
employvee’s attraction to materialistic extrinsic factors, degradation of =social wvalues,
interperzonal conflicts and lack of team building behaviour. The organizational climate
depends mostly on the person who leads the organization. The practices flow from top to
bottom. Therefore, a transformational leadership iz needed by many organizations for
creating a climate that will lead to the knowledge economy.

According to author, the key issue for customer capital creation is-

A Customer rotation B Customer relationship
) management ’ management

Customer retention
C. D. All of these

management

Answer Key - B
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198 . Read the following passage carefully and answer the questions given below.

In current EKnowledge economy (K-economy), organizations reguired to emphasize on
Intellectual Capital (IC). IC has three basic components: human capital, customer
capital, and organizational capital Many authors have used the organizational capital as
either infrastructure capital or structural capital The common practice of creation,
measurement, and management of the ntellectual capital has originated in the
European countries. Scandia i= the first company, which had shown intellectual capital in
itz balance sheet. However, a universally accepted formula for measurement of IC has
ztill not been created. Countriez like India, China and Japan known for knowledge
assets, are still struggling to implement the knowledge management practices. There 1s a
need to identify the process for creation of IC in K-economy. The human capital of a
nation depends on the practices and culture followed by the citizens of that nation. For
creation of human capital, the roles of ethics and value systems cannot be ignored.
Moreover, perzeverance, hard work, knowledge sharing culture, and knowledge currency
distribution are required. The GATT and WTO through Intellectual Property Rights Act
also support the IC creation practices.

Customer capital creation is facing a global challenge. Managing relationship with
customers 1s the kev issue now-a-dayvs. These practices believe in customer delight rather
than customer satisfaction. The Business Process Outsourcing and human re-engineering
era will give quality products and services to the customers, if redesigning of customer
equity 1= taken care of by the organizations. The cash-cow companiez purzue the
organizational goal of earning =atisfactory return that lie in the range of 10 percent to 45
percent through guality circles, workers participation in management, job rotation, ete.
Sustained retention of old customers and attraction of new ones present an immense
challenge to the organization in the EK-economy. The infrastructure capital creation
depends totally on the organization, the organizational culture and organizational
climate. Most of the Fortune 500 companies are able to sustain the organizational culture
but face problems In remaining organizational climate. The major reason for this i= the
employvee’s attraction to materialistic extrinsic factors, degradation of =social wvalues,
interperzonal conflicts and lack of team building behaviour. The organizational climate
depends mostly on the person who leads the organization. The practices flow from top to
bottom. Therefore, a transformational leadership iz needed by many organizations for
creating a climate that will lead to the knowledge economy.

Most of the Fortune 500 companies feel that-

Human values are upgraded Human values are degraded
A and extrinsic motivation is B. and extrinsic motivation is
reduced increased

Human values have no
C. relationzhip with extrinsie D. | All of the=e
motivational factors

Answer Key - B
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199. Read the following passage carefully and answer the questions given below.

In current EKnowledge economy (K-economy), organizations reguired to emphasize on
Intellectual Capital (IC). IC has three basic components: human capital, customer
capital, and organizational capital Many authors have used the organizational capital as
either infrastructure capital or structural capital The common practice of creation,
measurement, and management of the ntellectual capital has originated in the
European countries. Scandia i= the first company, which had shown intellectual capital in
itz balance sheet. However, a universally accepted formula for measurement of IC has
ztill not been created. Countriez like India, China and Japan known for knowledge
assets, are still struggling to implement the knowledge management practices. There 1s a
need to identify the process for creation of IC in K-economy. The human capital of a
nation depends on the practices and culture followed by the citizens of that nation. For
creation of human capital, the roles of ethics and value systems cannot be ignored.
Moreover, perzeverance, hard work, knowledge sharing culture, and knowledge currency
distribution are required. The GATT and WTO through Intellectual Property Rights Act
also support the IC creation practices.

Customer capital creation is facing a global challenge. Managing relationship with
customers 1s the kev issue now-a-dayvs. These practices believe in customer delight rather
than customer satisfaction. The Business Process Outsourcing and human re-engineering
era will give quality products and services to the customers, if redesigning of customer
equity 1= taken care of by the organizations. The cash-cow companiez purzue the
organizational goal of earning =atisfactory return that lie in the range of 10 percent to 45
percent through guality circles, workers participation in management, job rotation, ete.
Sustained retention of old customers and attraction of new ones present an immense
challenge to the organization in the EK-economy. The infrastructure capital creation
depends totally on the organization, the organizational culture and organizational
climate. Most of the Fortune 500 companies are able to sustain the organizational culture
but face problems In remaining organizational climate. The major reason for this i= the
employvee’s attraction to materialistic extrinsic factors, degradation of =social wvalues,
interperzonal conflicts and lack of team building behaviour. The organizational climate
depends mostly on the person who leads the organization. The practices flow from top to
bottom. Therefore, a transformational leadership iz needed by many organizations for
creating a climate that will lead to the knowledge economy.

The leading countries in Intellectual Capital (IC) are:

A Asian countries B. African countries
C. European countries D. | None of these
Answer Key - C
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200 . Read the following passage carefully and answer the questions given below.

In current EKnowledge economy (K-economy), organizations reguired to emphasize on
Intellectual Capital (IC). IC has three basic components: human capital, customer
capital, and organizational capital Many authors have used the organizational capital as
either infrastructure capital or structural capital The common practice of creation,
measurement, and management of the ntellectual capital has originated in the
European countries. Scandia i= the first company, which had shown intellectual capital in
itz balance sheet. However, a universally accepted formula for measurement of IC has
ztill not been created. Countriez like India, China and Japan known for knowledge
assets, are still struggling to implement the knowledge management practices. There 1s a
need to identify the process for creation of IC in K-economy. The human capital of a
nation depends on the practices and culture followed by the citizens of that nation. For
creation of human capital, the roles of ethics and value systems cannot be ignored.
Moreover, perzeverance, hard work, knowledge sharing culture, and knowledge currency
distribution are required. The GATT and WTO through Intellectual Property Rights Act
also support the IC creation practices.

Customer capital creation is facing a global challenge. Managing relationship with
customers 1s the kev issue now-a-dayvs. These practices believe in customer delight rather
than customer satisfaction. The Business Process Outsourcing and human re-engineering
era will give quality products and services to the customers, if redesigning of customer
equity 1= taken care of by the organizations. The cash-cow companiez purzue the
organizational goal of earning =atisfactory return that lie in the range of 10 percent to 45
percent through guality circles, workers participation in management, job rotation, ete.
Sustained retention of old customers and attraction of new ones present an immense
challenge to the organization in the EK-economy. The infrastructure capital creation
depends totally on the organization, the organizational culture and organizational
climate. Most of the Fortune 500 companies are able to sustain the organizational culture
but face problems In remaining organizational climate. The major reason for this i= the
employvee’s attraction to materialistic extrinsic factors, degradation of =social wvalues,
interperzonal conflicts and lack of team building behaviour. The organizational climate
depends mostly on the person who leads the organization. The practices flow from top to
bottom. Therefore, a transformational leadership iz needed by many organizations for
creating a climate that will lead to the knowledge economy.

What is the primmary purpose of the passage?

A Creation of Intellectual B To comment on organizational
’ Capital " | culture

C. To study the cash-cow concept | D. | All of these

Answer Key - A
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